
https://www.leads4pass.com/cloud-digital-leader.html
2024 Latest leads4pass CLOUD-DIGITAL-LEADER PDF and VCE dumps
Download

 

 

 

CLOUD-DIGITAL-LEADERQ&As

Cloud Digital Leader

Pass Google CLOUD-DIGITAL-LEADER Exam with
100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/cloud-digital-leader.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Google
Official Exam Center

 

 

CLOUD-DIGITAL-LEADER VCE Dumps | CLOUD-DIGITAL-LEADER Study Guide | CLOUD-DIGITAL-LEADER
Exam Questions

                               1 / 3

https://www.leads4pass.com/cloud-digital-leader.html
https://www.leads4pass.com/cloud-digital-leader.html
https://www.leads4pass.com/cloud-digital-leader.html
https://www.leads4pass.com/cloud-digital-leader.html


https://www.leads4pass.com/cloud-digital-leader.html
2024 Latest leads4pass CLOUD-DIGITAL-LEADER PDF and VCE dumps
Download

QUESTION 1

A partner of yours used to have their own private data center. Your company was already on Google Cloud and now
they have also moved to Google Cloud. You are investigating whether there are ways to collaborate better or shared
services. What would be one good option to consider? 

A. Use Private Service Access within Google Cloud. 

B. Use VPC Peering to share resources privately between your two organizations. 

C. Use public IP addresses as before. It will automatically be routed internally only. 

D. Use VPC Shared Networks to share common resources. 

Correct Answer: B 

VPC Network Peering allows internal IP address connectivity across two Virtual Private Cloud (VPC) networks
regardless of whether they belong to the same project or the same organization. -> Shared VPC is only within an
organization-it allows an organization to connect resources from multiple projects to a common Virtual Private Cloud
(VPC) network, so that they can communicate with each other securely and efficiently using internal IPs from that
network. -> Private Google Access is only to access Google APIs and services References: ->
https://cloud.google.com/vpc/docs/vpc-peering -> https://cloud.google.com/vpc/docs/private-google-access->
https://cloud.google.com/vpc/docs/shared-vpc 

 

QUESTION 2

What according to you are NOT the key capabilities of In-App Messaging? 

A. Target messages accordingly to the change in the behavior pattern of the target audience. 

B. Creating customized and flexible alerts 

C. Increasing conversion for user-to-user sharing 

D. Sending relevant messages to the target audience 

Correct Answer: C 

In-App Messaging 

Engage active app users with contextual messages. 

Firebase In-App Messaging helps you engage users who are actively using your app by sending them targeted and
contextual messages that nudge them to complete key in-app actions-like beating a game level, buying an item, or 

subscribing to content. 

 

QUESTION 3

An online retail organization wants to optimize their service. 
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What is an example of unstructured data that they can use to make decisions? 

A. Customer survey comments 

B. Seller location coordinates 

C. Product sales trends 

D. Warehouse inventory records 

Correct Answer: A 

https://cloud.google.com/storage/docs/requester-pays 

 

QUESTION 4

An organization wants to develop an application that can be personalized to user preferences throughout the year. Why
should they build a cloud-native application instead of modernizing their existing on-premises application? 

A. Developers can rely on the cloud provider for all source code 

B. Developers can launch new features in an agile way 

C. IT managers can migrate existing application architecture without needing updates 

D. IT managers can accelerate capital expenditure planning 

Correct Answer: B 

 

QUESTION 5

An organization is planning to deploy a new workload to Google Cloud. They need an accurate estimate of the likely
costs of running the workload. How should the organization create this estimate? 

A. Use the Google Cloud Pricing Calculator. 

B. Deploy workload to test environment to observe costs. 

C. Use historic costs of an existing similar workload. 

D. Refer to pricing information and manually calculate an estimate. 

Correct Answer: A 
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